Review Ray’s ladder match against „HungryOnes“ from 2008-01-13
We won the second match in a row and are now standing 2. in the ladder. 
Congratulations to my teammates Zoran/Andrea and my dear partner Yvon.

But be aware Hue subbed for Chris. So our opponents (Rita/Hue) were not a regular pair. They had some bidding misunderstandings.

Most problems were bidding not playing.
I will not comment on Andrea/Zoran’s bidding, because I’m not used to their system.
# 1. Both tables reached a comfortable slam. We lost 2 IMPs because we played only 6C instead of 6NT.
Yvon and I had bid the slam: 3C – 6NT - - - Knowing partner opned with KQxxxxx
Because we define 3C as HHxxxxx partner can count 12 easy tricks for sure. (2S+1H+2D+7C)
It pays to play disciplined preempts with exact definitions in 1. and 2. seat.

# 2. My hand has only 11 HCP and no A, but 5422 with a spade 5-carder and LTC 6 is for me a 100% opening (not even a minimum opener). If partner raises to 3gamey try with 3C.
Why HUE bid only 2D instead of double is his mystery. Normal bidding should be 1S X p 1NT p 3NT
1NT shows 8-10 HCP and should have spade stopper (But sometimes you have to lie in some way o the other) Knowing 24-26 HCP and holding another spade stopper West bids the game confidently.
At the other table. South didn’t open, but doubled3NT for a spade lead (dummy’s 1. bid suit).
The double was a bad one. He should have better spades and the A of Clubs instead of KQ.
e.g.: KQJ98,xx,xxx,Axx is a good double of 3Nt after dummy bid 1S. Declarer may have 8 tricks in the reds and Spade A, but it is a worth a try. 
Btw. I would open this hand too. You saw me open just a lot of weaker hands than this one.
I open every hand containing a spade 5-carder that requires the rule of 18.
http://homepage.mac.com/bridgeguys/Conventions/Rule18.html 
# 3. Both tables bid the same bad slam with the identical bidding.
1D pass 2C is annoying situation in 2/1. Mike Lawrence writes in his “Workbook on the 2/1 system” a whole chapter about this problem.
He starts the chapter with this remark:
“Meet the black sheep of the 2/1-system. Anyone who plays a 2/1 system will wax enthusiastically on the merits of the system until the conversation turns o the sequence 1D pass 2C..
When this happens the proud 2/1 player mumbles something like, I don’t have trouble with 1D pass 2C sequences. But before you can pin him down with questions, the conversation somehow turns to a recent success story, or it stops entirely.”
North with his 8 playing tricks has a very difficult rebid after 1D p 2C p 2NT when partner is showing 12-14 balanced.
Sure the “weak NT” may produce 4 tricks especially with the 2 Qs aside, but it is against the odds, that opener has 1. round controls in at least 2 and 2. round control in the 3. side-suit. And if he has the controls it maybe he has not 4 playing tricks (Axxxx, Axxx, KQx, Jx is a 50% slam only, because you need Diamond A onside)
Just another point this time my hand is NOT an opening. 11HCP balanced should 1. 2. and 4. seat.
I miscounted this one to 12 and liked my diamond AK. LOL

# 4. I like Yvon’s and mine bidding. We found the club-fit via superaccpet after x-fer.
The game has about 85% (1 heart honor onside or spades 3-3 or spade Jx or J)
Btw. If West held the heart A only (not the J), he must hold up the first round, so that declarer has to guess the situation right. So against good defenders the odds decrease to about 70%.
# 5. We pushed them to an unfeasible 3S while Andrea/Zoran after the weak NT could stop in 2H:
Why North didn’t bid 3C is his mystery. The defense slipped. Spade 9 was a terrible card. South could play every minor card after heart A and 2H would be -1.
# 6. Another slam hand. This time every card right. My bidding was a bit chickened. I could force with 3S instead of the leap to 4H. But I have no chance to identify, if partner holds club Q or xx and he must have exactly 2 QT in spades and diamonds and very probably you need trumps to be 2-2.
If West passes 1H, we could apply Bergen 1H 3D or even 1H 3C with 2QT (We play inverted Bergen), then we can find the slam. But after 1S my partner has no better bid than the constructive 2H.
3H would show more playing strength and less defense.
# 7. Congratulations to my partner, that he didn’t bid 3D. He was aware of the misfit holding 4 Hs.
At MP you can think about 3D but with IMPs it is much better to pass.
So our opponents had to bid the normal 3NT with 25 HCP and went down when the heart K was offside.
Technically correct my partner should play diamond 9 to the first trick. (perhaps declarer makes the mistake not to hold up the K). The A is a very valuable card. Think twice before playing it prematurely.
Missing the 2 and the 3 my 4 must be singleton or doubleton.
At the other table Andrea and Zoran defended very well 3DX and didn’t let declarer score dummy’s club A.
# 8. I didn’t like my hand to bid after 1S pass 2S. The problem showing a 2-suiter is that declarer has an easy play, if we don’t win the bidding. And I have some defense, so I’m not sure 4S will make and they didn’t bid it so far.
And I had a choice of evils to bid:

a. 2NT ? Partner would assume minor-2-suiter and act accordingly. OK I can overrule his club bids with diamonds showing a red 2-suiter, but maybe we sac tooo high
b. 3H? What if I get doubled? Should I try 4D then? Grrrrrrrrrrrrrrrrrrrrrrrr

c. 3S? Force partner to seek my suit at the 4-level??

Zoran should double 5H with 1.5 QT opposite an opener, who accepts the game invite. The pass is in my opinion a forcing pass and should show singleton heart. With equal vulnerability double is the better choice.
Andrea has after forcing pass a tough decision weather to pass or to double: I don’t know, what I had bid a the table, but I’d never passed.
# 9. Another board where the weak NT scores. South has a terrible bid after 1NT. I have no better idea than bid 2S Cappaletti (2NT a minor 2-suiter or perhaps hearts/diamonds but never majors; double is nonsense ) and North assuming you have spades and diamonds will pass.
After 1C I could show my majors and make a lucky leap to game.
I was very lucky to find Yvon with 4Hs, singleton spade and the spades very lucky distributed.
My usual comment ftf after such a hnd is: “Why didn’t you bid 6, partner?”
Yvon played well leading his singleton spade before touching trumps. You cannot know how many spades you have to ruff, so play the side-suit first.
# 10. A close game not reached at both tables. The hands fitted very well. After 1D 1H 1NT 2C(CBS) 2H Hue chickened and passed. Sure he has only 9 HCP, but a LTC 7 1.5 QT and the nice 4531 distribution. And partner opened 1D. After a 1C opening I would pass automatically. But in this situation IMPs vulnerable I would bid 3H at least (even knowing we have only a 5-3-fit) and East will accept with his maximum.
Bidding should be: 1D 1H 1NT 2C 2H 3H 4H

# 11. A normal 1 NT contract but with only 4 tricks from the top. To develop spades is impossible with the the thread in diamonds.
I read the lead correct and was right playing East for club Kx and West for J10xx. (A terrible lead btw. If you lead this suit you must lead 4th best). Now I had 6 tricks and heart finesse could be the 7. After I hold up diamonds twice an uninspired defense took 3 spade tricks and let me claim with need to risk the heart finesse.
At the other table Andrea/Zoran found the good 2D contract via a DON’T-sequence. Congratulations, Zoran, good judgement and table presence.
The play and defense was a comedy of errors. After the lead Zoran had 5D and 3C tricks and a 9. tricks with Club Q onside. Play a trump to trick 2 is reasonable but after spade Q, cash the spades, discard a heart loser and try the club finesse for 8 or 9 tricks. But opponents didn’t like this gift.
With 4 tricks in the bag and 2 Aces in your hand, why not cash?
# 12. Yvon had no spade to lead and I had no entry, declarer could establish 2  discards on hearts. So we had no defense against 4S.
In the other room opponents bid a silly slam and declarer played terrible.
I don’t know Andrea/Zorans style of preempts. If Andrea’s opener could be QJ1098x, x,xxx,xxx Zoran was right not to double 6D. With CA on the table 6D is easy.

# 13. Normal 3 NT at both tables. Against my usualness I found a good lead and fooled declarer. But the same happened at the other table. With the club A and diamond K onside declarer had 3S+2H+3D+1c = 9 tricks losing 2H and 2C
The “dark 13” brought the only push-board of the match. Leading by a great margin we were happy about that. Now the last hand could not cost the match.

# 14. In the last hand I played a normal 2H, run into bad breaks and went -3. Andrea/Zoran bid an overoptimistic 3NT on 23 HCPs with a misfit hand. Andrea has no reason to bid 3NT with 12 HCP and singleton club  after partner passed in first seat. As the defense misplayed the hearts (heart K is a terrible card) Andrea could have made this contract be plunking down heart Q. But then my critic of his bidding wouldn’t be right, because there is NOTHING BUT SUCCESS.
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